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entropia [kJ/kg°C]
CISNIENIE MOC
at N/mZ2 bar kpa‘mz mmHZO MPa Gcalfh GJ/h MwW kpm/s KM
at * 98110 4 | g.8110 1 104 98110 "2 || Gealih * 4,1868 1,163 0,1186+108 | 158121410 3
N/m2 | o102+107% * 105 | o0102:10% | 0,102 1076 GJ/h 0,238844 * 0277777 | 2833310 | 37767268
bar 0,102+10 w08 * 0,102+10 | 0,102=10 & 107 MW 0,86 3,6 * 0,102-108 | 1,36-103
kp/m2 1 981104 | 9811071 * 104 9811072 || kpmls | 8.4322-106 : 35204-10% | 9,81+1076 * 13,333-10°3
mmHO 1074 9,81 9811075 1074 * 9,81+10°6 KM | 632.416-106 | 0,0026477 735541076 75 *
MPa | 0,102+102 106 | 10 01024102 | 0,102-10 & *



